
 
 
 
 
 
 
 

VOLUME 

 

Name of the 
figure 

figure 
Surface 
area 

tisgug;Gtisgug;Gtisgug;Gtisgug;G 

Total 
surface 
area 
nkhj;j 

Gwgug;gsT 

Volume 
fd msT 

Right circular 
cylinder(Neh;tl;l 
jpz;k cUis) 

 

 

2πrh 2πr(h + r) πr2h 

Right circular 
hollow 

cylinder(Neh;tl;l 
cs;sPlw;w 
cUis) 

 

 

 
 

2πh(R + r) 
2π(R + r)  
(R – r + h) 

πR2h – πr2h = 
πh(R2 – r2) = 

πh(R + r)(R – r) 

Right circular 
cone (Neh;tl;l 
jpzkf; $k;G)  

 

πrl πr(l + r) 
21

3
r hπ  

Frustum of a 
cone 

(,ilf;fz;lk;)  

 
--------- 

-------- 
2 21

( )
3
h R r Rrπ + +

 

Solid sphere 
(jpz;kf;Nfhsk;) 

 

 

4πr2 ______ 
34

3
rπ  

Hollow Sphere 
(cs;sPlw;w 
Nfhsk;)  

 
------- 

______ 
3 34

( )
3

R rπ −  

Solid 
hemisphere 
(jpz;k  

 

2πr2 3πr2 
32

3
rπ  



miuf;Nfhsk;) 

Hollow 
Hemisphere 
(cs;sPlw;w 
miuf;Nfhsk;) 

 

 

 

2π(R2 + r2) 
2π(R2 + r2) 
+ π(R2 - r2) 
= π(3R2 + 

r2) 

gad;gLj;jg;gl;
l cNyhfj;jpd; 
fd msT = 

3 32
(

3
R rπ − ) 

 
                    tl;lf;Nfhzg;gFjp $k;ghf khw;wg;gLfpwJtl;lf;Nfhzg;gFjp $k;ghf khw;wg;gLfpwJtl;lf;Nfhzg;gFjp $k;ghf khw;wg;gLfpwJtl;lf;Nfhzg;gFjp $k;ghf khw;wg;gLfpwJ    

tisgug;G = tl;lf;Nfhzg;gFjpapd; gug;G 

                                         

2

360
rl r

θ
π π= ×  

       tpy;ypd; ePsk;( l ) = $k;gpd; mbr;Rw;wsT(2πr)  

Volume of water flows out through a pipe = (Cross section area x Speed x 
Time) 
 Foha; topNa ghAk; jz;zPh; fd msT = (FWf;F ntl;Lg; gug;G X  
                                              Ntfk; X Neuk;) 

No. of new solids obtained by recasting = 
Volumeof thesolidwhich ismelted

Volumeof onesolidwhichismade
 

cUf;fp jahhpf;fg;gLk; Gjpa fd cUtq;fspd; vz;zpf;ifcUf;fp jahhpf;fg;gLk; Gjpa fd cUtq;fspd; vz;zpf;ifcUf;fp jahhpf;fg;gLk; Gjpa fd cUtq;fspd; vz;zpf;ifcUf;fp jahhpf;fg;gLk; Gjpa fd cUtq;fspd; vz;zpf;if    
                                                    = 
; ; ; ; ;

; ; ; ; ;

cUffggll fd cUtjjpd fdmsT

cUthffggll xU fd cUtjjpd fdmsT
 

Conversions: 
1 m3 = 1000 litres, 1 d.m3 = 1 litre,   1000 cm3 = 1 litre,  1000 litres = 1 kl 
1 kP3 = 1000yp> 1nlrp kP3 = 1yp> 1000 nr.kP3 = 1yp> 1000yp = 1 fp.yp 

 

  



 

WORK SHEET 

 
1. The volume of a cone is 20 cm3. The volume of a cylinder, of same radius 

and height, is  
xU $k;gpd; fd msT 20 f.nr.kP vdpy;> mNj Muk;> cauj;ij cila 
cUisapd; fd msT 
a. 400 cm3   b. 10 cm3   c. 60 cm3   d. 40 cm3. 

 
2. The radii of two right circular cylinders are in the ratio of 3 : 2 and their 

heights are in the ratio 5 : 3.  Find the ratio of their curved surface areas. 
a. 5 : 2         b. 2 : 5       c.  3 : 2      d.  5 : 3 
,uz;L Neh;tl;l cUisfspd; Muq;fspd; tpfpjk; 3 : 2 vd;f. NkYk; 
mtw;wpd; cauq;fspd; tpfpjk; 5 : 3 vdpy; mtw;wpd; tisgug;Gfspd; 
tpfpjk; fhz;f. 

a. 5 : 2         b. 2 : 5       c.  3 : 2      d.  5 : 3 
 

3. 50 circular plates each of radius 7 cm and thickness ½ cm are placed one 
above another to form a solid right circular cylinder. What is the total 
surface area of the cylinder so formed? 
a. 1230 cm2           b. 1332 cm2  c. 1408 cm2                    d. 1560 cm2 
7 nrkP MuKk; ½ nrkP fdKk; nfhz;l 50 tl;ltbt jl;Lfs; xd;wd; 
Nky; xd;whf mLf;fg;gl;L xU jpl Neh;tl;l cUis cUthfpAs;sJ. 
,e;j cUisapd; nkhj;j Gwgug;gsT ahJ?  
a. 1230 cm2           b. 1332 cm2  c. 1408 cm2                    d. 1560 cm2 

 
4. A heap of paddy is in the form of a right circular cone whose diameter is 

4.8 m and height 1.8 m. If the heap is to be covered exactly  by a canvas to 
protect it from rain, find the area of the canvas required. 
a. 22.6 m2  b. 27.2 m2  c. 13.6 m2  d. 11.3 m2 
Neh;tl;l$k;G tbtpy; Ftpf;fg;gl;l new;Ftpaypd; tpl;lk; 4.8 kP kw;Wk; 
mjd; cauk; 1.8 kP vd;f. ,e; new;Ftpaiy kioapypUe;J ghJfhf;f 
fpj;jhd; Jzpahy; kpfr;rhpahf %lg;gLfpwJ vdpy;> Njitahd fpj;jhd; 
Jzpapd; gug;igf; fhz;.  
a. 22.6 m2  b. 27.2 m2  c. 13.6 m2  d. 11.3 m2 

 
5. The radius and height of a cylinder are in the ratio 5 : 7. If its volume is 

4400 cu. cm then the radius of the cylinder is 
a. 10 cm  b. 25 cm  c. 15 cm  d. 20 cm 
cUisapd; Muk; kw;Wk; cauj;jpd; tpfpjk; 5 : 7. NkYk; mjd; fd 
msT 4400 f.nr.kP vdpy; mt;TUisapd; Muk; 

a. 10 cm  b. 25 cm  c. 15 cm  d. 20 cm 



 
6. A hollow cylindrical pipe is of length 40 cm. Its internal and external 

radii are 4 cm and 12 cm respectively. It is melted and cast into a solid 
cylinder of length 20 cm. Find the radius of the new solid. 
a. 8 cm  b. 4 cm  d. 12 cm  d. 16 cm 
xU cs;sPlw;w cUis tbtf; Fohapd; ePsk; 40 nr.kP. mjd; cs; 
kw;Wk; ntsp Muq;fs; KiwNa 4 nr.kP. kw;WK; 12 nr.kP. mt;Ts;sPlw;w 
cUisf; Foha; cUf;fg;gl;L 20 nr.kP. ePsKs;s jpz;k Neh; tl;l 
cUisahf khw;Wk;NghJ fpilf;Fk; Gjpa cUisapd; Muj;ijf; fhz;f. 
a. 8 cm  b. 4 cm  d. 12 cm  d. 16 cm 

 
7. Water is flowing at the rate of 15 km/hr through a cylindrical pipe of 

diameter 14cm into a rectangular tank which is 50 m long and 44 m wide.  
In how many hours will the water level in the tank raise by 21 cm? 
a. 1hr  b. 2hrs  c. 1 ½ hrs  d. 3 hrs 
50kP ePsk; 44kP mfyKs;s nrt;tf njhl;bypy; 14 nr.kP tpl;lKs;s 
cUis tbt Fohapd; topahf 15 fp.kP/kzp Ntfj;jpy; jz;zPh; 
tpOfpd;wJ.  21 nr.kP. msT ePh;kl;lk; cau Ntz;Lkhdhy; MFk; fhy 
msT. 

a. 1hr  b. 2hrs  c. 1 ½ hrs  d. 3 hrs 
 

8. A boy cut a sector containing an angle of 140° from a circle of radius 15 
cm and he folded the sector into a cone. What is the curved surface area 
of the cone  

       a. 572 sq. cm        b. 527 sq. cm c. 275 sq. cm         d. 257 sq. cm 
15 nr.kP MuKs;s xU tl;lj;jpypUe;J 140° ikaf;Nfhzk; nfhz;l XU 
tl;lf;Nfhzg; gFjpia xU khztd; ntl;bnaLj;J mjd; Muq;fis 
xd;wpizj;J xU $k;ghf;fpdhy;> fpilf;Fk; $k;gpd; tisgug;G vd;d?  

     a. 572 sq. cm        b. 527 sq. cm c. 275 sq. cm         d. 257 sq. cm 
 

9. A rectangular piece of paper has length 14 πcm and breadth 10/πcm. A 
cylinder is formed by one rolling of the paper along its length. Then 
volume of the cylinder is  
a. 980 cm3            b. 1960 cm3  c. 1400 cm3            d. 490 cm3 

xU nrt;tf tbt jhspd; ePsk; 14 π nr.kP mfyk; 
10

π  
nr.kP jhshdJ 

ePsj;jpd; topNa xU Kiw RUl;lg;gLtjd; %yk; xU cUis 
cUthf;fg;gl;lhy; mt;cUisapd; fd msT ahJ?  
a. 980 cm3            b. 1960 cm3  c. 1400 cm3            d. 490 cm3 

 

 



10.  Two right circular cones have equal radii.  If their slant heights are in the 
ratio 4:3, then their respective curved surface areas are in the ratio 
a. 16:9   b. 2:3   c. 4:3   d. 3:4 
,uz;L Neh;tl;l $k;Gfs; xNu rkkhd Muq;fis nfhz;Ls;sJ.  
mitfspd; rha; cauq;fs; 4:3 vd;w tpfpjj;jpy; ,Ug;gpd; mitfspd; 

tisg;Gw gug;Gf; KiwNa _____ tpfpjj;jpy; ,Uf;Fk; 
a. 16:9   b. 2:3   c. 4:3   d. 3:4 

 
11. If a right circular cylinder and a right cone have the same radius and 

same height then the ratio of volume of cylinder to volume of cone is 

a. 3:1   b. 1:3   c. 
1

: 2
3

  d. 1:π 

xU Neh;tl;l cUisapw;Fk;> xU Neh;tl;l $k;gpw;Fk; xNu Muk;> xNu 
cauk; vd;why; cUisapd;; fd msTf;Fk; $k;gpd; fd msTfs; 
,ilNa cs;s tpfpjk;. 

a. 3:1   b. 1:3   c. 
1

: 2
3

  d. 1:π 

 
12. The total surface area of a solid hemisphere of a diameter 2 cm is equal to 

a. 12 cm2   b. 12π  cm2  c. 4π  cm2  d. 3π  cm2 
xU jpz;k miu Nfhsj;jpd; tpl;lk; 2 nr.kP vdpy; mjd; nkhj;j 
Gwg;gug;G 
a. 12 cm2   b. 12π  cm2  c. 4π  cm2  d. 3π  cm2 

 
13. The radii of two cones are in the ratio 2 : 1 and their volumes are equal 

Find the ratio of their heights 
a. 1 : 8   b. 1 : 4   c. 2 : 1   d. 4: 1 
fd msTfs; rkkhf cs;s ,uz;L $k;Gfspd; Muq;fspd; tpfpjk; 2 : 1 
mtw;wpd; cauq;fspd; tpfpjk; 
a. 1 : 8   b. 1 : 4   c. 2 : 1   d. 4: 1 

 
14. If the height and the base area of a right circular cone are 5 cm and 48 

sq.cm respectively, then the volume of the cone is equal to  
a. 240 cm3  b. 120 cm3  c. 80 cm3  d. 480 cm3 
5 nr.kP cauKk;> 48 r.nr.kP. mbg;gf;fg;gug;Gk; nfhz;l xU Neh;tl;lf; 
$k;gpd; fd msT  

a. 240 cm3  b. 120 cm3  c. 80 cm3  d. 480 cm3 
 

15. Spherical metal ball of radius 6 cm is melted and casted into small 
spherical balls having diameter 6 mm. How many small balls can be 
casted 
a. 8000          b. 1000  c. 6000          d. 2000 



6 nr.kP MuKs;s Nfhstbt cNyhff; Fz;L cUf;fg;gl;L 6 kp.kP 
tpl;lKs;s rpwpa Nfhstbt Fz;Lfshf thh;f;fg;gl;lhy; vj;jid rpwpa 
Nfhstbt Fz;Lfs; fpilf;Fk;? 
a. 8000          b. 1000  c. 6000          d. 2000 
 

16. A right circular cylindrical container of base radius 6 cm and height 15 
cm is full of ice cream. The ice cream is to be filled in cones of height 9 cm 
and base radius 3 cm, having a hemispherical cap. Find the number of 
cones needed to empty the container.  
a. 10  b. 12   c. 15   d. 18  
6 nr.kP Muk; kw;Wk; 15 nr.kP cauk; nfhz;l Xh; cUis tbtg; 
ghj;jpuj;jpk; KOtJkhf gdpf;$o; cs;sJ. gdpf;$ohdJ> $k;G kw;Wk; 
miuf;Nfhsk; ,ize;j tbtj;jpy; epug;gg;gLfpwJ. $k;gpd; cauk; 9 nr.kP 
kw;Wk; Muk; 3 nr.kP vdpy;> ghj;jpuj;jpy; cs;s gdpf;$io epug;g 
vj;jidf; $k;Gfs; Njit?  

a. 10  b. 12   c. 15   d. 18  
 

17. Wall is to be constructed with length 60 m, breadth 3 m and height 5 m. 
How many bricks are required to construct a wall with length 30 cm, 
breadth 15 cm and height 20 cm? 
a. 1,50,000  b. 1,25,000  c. 1,00,000  d. 1,75,000 
ePsk; 60kP mfyk; 3 kP cauk; 5 kP cila Rth; vOg;g ePsk; 30 Cm 
mfyk; 15 cm cauk; 20 cm cila nrq;fw;fs; vj;jid Njit?  
a. 1,50,000  b. 1,25,000  c. 1,00,000  d. 1,75,000 
 

18. Three cubes of iron whose edges are 6 cm, 8 cm, 10 cm respectively are 
melted and formed into a single cube.  The edge of the new cube is 
a. 12 cm.  b. 14 cm  c. 16 cm  d. 18 cm 
6 nr.kP> 8 nr.kP> 10 nr.kP> ePsKs;s tpspk;Gfisf; nfhz;l %d;W 
fdr;rJu tbtpy; cs;s ,Uk;gpid cUf;fp xU fdr;rJuj;ij 
cUthf;fpdhy; me;j Gjpa fdr; rJuj;jpd; tpspk;gpd; ePsk;. 
a. 12 cm.  b. 14 cm  c. 16 cm  d. 18 cm 
 

19. The cost of painting the four walls of a room is Rs. 425. Each one of the 
length, breadth and height of another room is triple that of this room. The 
cost of painting the walls of this new room is  
a. Rs. 1,275  b. Rs. 850  c. Rs. 1,700  d. Rs. 3,825 
xU miwapd; ehd;F Rth;fis th;zk; G+Rtjw;F MFk; nryT &. 425. 
,t;tiwapid tpl kw;nwhU miwapd; ePsk;> mfyk; kw;Wk; cauk; 
xt;nthd;Wk; Kk;klq;F vdpy;> Gjpa miwapd; Rth;fSf;F th;zk; G+r 
MFk; nryT  

a. Rs. 1,275  b. Rs. 850  c. Rs. 1,700  d. Rs. 3,825 



 

20. If the volume of two cubes are in ratio 27 : 64, then the ratio of their total 
surface area is : 
a. 27 : 64   b. 3 : 4       c. 9 : 16     d. 3 : 8 
,uz;L fdrJuq;fspd; fd tpfpjk; KiwNa 27 : 64. vdpy; fdr;rJuj;jpd;  
nkhj;jg; gug;gpd; tpfpjk;  

a. 27 : 64   b. 3 : 4       c. 9 : 16     d. 3 : 8 
 

21. The ratio of the volumes of a cylinder, a cone and a sphere, if each has the 
same diameter and same height is  
a. 1:2:3   b. 2:1:3   c. 1:3:2   d.  3:1:2 
rkkhd tpl;lk; kw;Wk; cauk; cila Xh; cUis> xU $k;G kw;Wk; xU 
Nfhsj;jpd; fd msTfspd; tpfpjk; 

a. 1:2:3   b. 2:1:3   c. 1:3:2   d.  3:1:2 
 

22. A solid sphere and a solid hemisphere have equal total surface area, then 
the ratio of thier volume is  

a. 3 3 : 2   b. 3 : 4   c. 3 3 : 4   d. 6 3 :1  
xNu nkhj;jgug;G nfhz;l Nfhs kw;Wk; xU miuf;Nfhsj;jpd; fd 
msTfspd; tpfpjk;  

a. 3 3 : 2   b. 3 : 4   c. 3 3 : 4   d. 6 3 :1  
 

23. Arul has to make arrangements for the accommodation of 150 persons 

for his family function. For this purpose, he plans to build a tent which is 

in the shape of cylinder surmounted by a cone. Each person occupies 4 

sq. m of the space on ground and 40 cu. meter of air to breathe. What 

should be the height of the conical part of the tent if the height of 

cylindrical part is 8 m?  

a. 8 m   b. 4 m  c. 16 m  d. 6 m  
mUs; jdJ FLk;g tpohtpw;F 150 egh;fs; jq;Ftjw;F xU $lhuk; 
mikf;fpwhh;. $lhuj;jpd; mbg;gFjp cUis tbtpYk; Nkw;gFjp $k;G 
tbtpYk; cs;sJ. xUth; jq;Ftjw;F 4 r.kP mbg;gFjp gug;Gk; 40 f.kP 
fhw;Wk; Njitg;gLfpwJ. $lhuj;jpy; cUisapd; cauk; 8 kP vdpy;> 
$k;gpd; cauk; fhz;f.  

a. 8 kP  b. 4 kP  c. 16 kP   d. 6 kP  
 

24. A hemispherical bowl is filled to the brim with juice. The juice is poured 
into a cylindrical vessel whose radius is 50% more than its height. If the 
diameter is same for both the bowl and the cylinder then find the 



percentage of juice that can be transferred from the bowl into the 
cylindrical vessel. 
a. 50%   b. 25%   c. 75%  d. 100% 
Xh; miuf;Nfhs tbtf; fpz;zj;jpd; tpspk;G tiuapy; gor;rhW 

epuk;gpAs;sJ. cauj;ijtpl 50% mjpf Muk; nfhz;l cUis tbtg; 
ghj;jpuj;jpw;Fg; gor;rhW khw;wg;gLfpwJ. miuf;Nfhsk; kw;Wk; cUis 
Mfpatw;wpd; tpl;lq;fs; rkkhdhy; fpz;zj;jpypUe;J vt;tsT rjtPjg; 
gor;rhW cUis tbt ghj;jpuj;jpw;F khw;wg;gLk;?  

a. 50%   b. 25%   c. 75%  d. 100% 
 

25. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm 
and 7 cm, find the volume of the frustum. 
a. 48310 cm3  b. 48410 cm3 c. 48510 cm3  d. 48610 cm3 
45 nr.kP cauKs;s Xh; ,ilf;fz;lj;jpd; ,U Gw Muq;fs; KiwNa 28 
nr.kP kw;Wk; 7 nr.kp vdpy;> ,ilf;fz;lj;jpd; fd msitf; fhz;f.  

a. 48310 cm3  b. 48410 cm3 c. 48510 cm3  d. 48610 cm3 
  


